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PHILOSOPHY
[ PHILOSOPHY OF LANGUAGE (INDIAN) ]

Time : Two Hours Full Marks : 30

Answer either in English or in Bengali.

Group – A / !î¦þy† éôé „þ

1. a) Why do the opponents of the Naiyāyikas  think that
Viśvanātha’s  definition of the śākti  relation does
not apply to modern names? Answer after
Siddhāntamuktāvalī and Siddhāntamuktāvalīsamgraha .

b) How do the Naiyāyikas  refute this objection?

c) Do the neo-Naiyāyikas  admit Viśvanātha’s
definition of the śakti  relation? Discuss after
Siddhāntamuktāvalī and Siddhāntamuktāvalīsamgraha .

3+4+3=10

1Ð „þV ÷˜ëûy!ëû„þ¢Á±”yöìëûîû þ™)îÅþ™!Çþ†’ „þ# „þyîûöì’ ›öì˜ „þöìîû˜ öë
!îÙ»˜yí²Ì”_ Ÿ!_«¢Áºöìõþîû œÇþ’ xy•%!˜„þ ˜yöì› ²Ìöìëy‹Ä £ëû
˜yÚ !¢kþyhsþ›%_«yîœ# ~î‚ !¢kþyhsþ›%_«yîœ#¢‚@ùÌ£ xîœÁºöì˜
vþz_îû ²Ì”y˜ „þîûÐ

…V ÷˜ëûy!ëû„þ†’ „þ#¦þyöìî ~£zîû*þ™ xyþ™!_ …[þ˜ „þöìîû̃ Ú

†V ˜îÄ÷ì̃ ëûy!ëû„þ†’ !„þ !îÙ»˜yí²Ì”_ Ÿ!_«¢Áºöìõþîû œÇþ’ ßþº#„þyîû
„þöìîû˜Ú !¢kþyhsþ›%_«yîœ# ~î‚ !¢kþyhsþ›%_«yîœ#¢‚@ùÌ£ x˜%¢yöìîû
xyöìœy‰þ˜y „þîûÐ 3+4+3=10

[ Turn over

6. a) How does Viśvanātha  define a word? Explain after
Siddhāntamuktāvalī .

b) Do you think that, in case of a yogarudha


 term the
knowledge of the conventional meaning does not
create any obstacle towards the understanding of the
etymological meaning? Give reasons for your
answer. 4+6=10

6Ð „þV !îÙ»˜yí „þ#îû*öìþ™ þ™öì”îû œÇþ’ ²Ì”y˜ „þ!îûëûyöìŠé˜Ú
!¢kþyhsþ›%_«yîœ# xîœÁºöì̃  îÄy…Äy „þîûÐ

…V “%þ!› !„þ ›öì̃  „þîû öë öëy†îû*‘þüþ™”ßþiöìœ îû*!‘þüKþy˜ öëï!†„þyöìíÅîû
öîyöì•îû ²Ì!“þîõþ„þ“þy „þöìîû ˜yÚ ö“þy›yîû vþz_öìîûîû ¢þ™öìÇþ ë%!_«
²Ì”y˜ „þîûÐ 4+6=10

7. Why do the opponents think that, vyavahāra , vyākarana


and vivaraņa , being means of ascertaining the śākti
relation, can be included under the cateogory āptavākya ?
How do the Naiyāyika  counter this objection? 5

7Ð þ™)îÅþ™Çþ# „þ# „þyîûöì’ ›öì˜ „þ!îûëûyöìŠé˜ öë îÄî£yîû– îÄy„þîû’ ~î‚ !îîîû’
~£z ¢„þœ Ÿ!_«@ùÌöì£îû vþzþ™yëû £çëûyëû xy®îyöì„þÄîû£z xhsþ†Å“þÚ
÷˜ëûy!ëû„þ ~£z þ™)îÅþ™Çþöì„þ „þ#îû*öìþ™ !˜îûy„þîû’ „þ!îûëûyöìŠé˜Ú 5

Or / xíîy
8. How can you determine the meaning of the word ‘yava’

read in this fragment of Śatapathabrāhmana


  –

“ śyavamaya carurbhavati ”? 5
8Ð òòëî›ëûØþîû&¦Åþî!“þóó éôé ~£z Ÿ“þþ™íîÊyáþ’y‚öìŸ þ™!àþ“þ òëîó þ™öì”îû xíÅ

“%þ!› „þ#îû*öìþ™ !˜îû*þ™’ „þ!îûöìîÚ 5

[ 4 ]

.

.
.
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[ 2 ] [ 3 ]

Or / xíîy

2. a) What are the main arguments in favour of the
Bhāţţa  theory of sentence-meaning?

b) How do the Prābhākara  philosophers refute this
theory? 5+5=10

2Ð „þV ¦þyR¢Á±”yëû¢Á¿“þ îy„þÄyíÅ!î¡ìëû„þ ›“þîyöì”îû ¢þ™öìÇþ ²Ì•y˜
ë%!_«¢›)£ „þ# „þ#Ú

…V ²Ìy¦þy„þîû¢Á±”yëû „þ#îû*öìþ™ ~£z ›“þ …[þ˜ „þöìîû̃ Ú 5+5=10

3. a) What is the ground behind the objection that if
Viśvanātha’s  definition of the śākti  relation is
admitted, then there will be no need to admit
laksaņā


 as a separate vrtti


?

b) How do the Naiyāyikas  meet this objection?
Answer in brief after Siddhāntamuktāvalīsamgraha .

1 1
2 22 2 5

3Ð „þV !îÙ»˜yí²Ì”_ Ÿ!_«îû œÇþ’ ßþº#„,þ“þ ££zöìœ ßþº“þsþf î,!_îû*öìþ™ œÇþ’y
ßþº#„þyöìîûîû ö„þy˜ç ²Ìöìëûy‹˜ íy!„þöìî ˜y– ~£zîû*þ™ xyþ™!_îû
¢þ™öìÇþ „þ#îû*þ™ ë%!_« !î”Ä›y˜Ú

…V ÷˜ëûy!ëû„þ¢Á±”yëû ~£zîû*þ™ xyþ™!_îû „þ#îû*þ™ vþz_îû ²Ì”y˜ „þöìîû˜Ú
!¢kþyhsþ›%_«yîœ#¢‚@ùÌ£ xîœÁºöì˜ ¢‚öìÇþöìþ™ vþz_îû ²Ì”y˜ „þîûÐ

1 1
2 22 2 5

Or / xíîy

4. a) What is the ground behind the objection that if the
Prābhākara  theory of sentence-meaning is admitted,
then it will be impossible to learn a natural
language?

b) How do the Prābhākara  philosophers meet this

objection? 1 1
2 22 2 5

4Ð „þV ²Ìy¦þy„þîû¢Á±”yëû¢Á¿“þ îy„þÄyíÅ!î¡ìëû„þ ›“þîy” ßþº#„,þ“þ ££zöìœ
¢y•yîû’ ¦þy¡ìy !ŸÇþy x¢½þî ££zöìî– ~£zîû*þ™ xyþ™!_îû ¢þ™öìÇþ
„þ#îû*þ™ ë%!_« !î”Ä›y˜Ú

…V ²Ìy¦þy„þîû¢Á±”yëû „þ#îû*öìþ™ ~£zîû*þ™ xyþ™!_îû vþz_îû ²Ì”y˜ „þöìîû˜Ú
1 1
2 22 2 5

Group – B / !î¦þy† éôé …

5. How do the Naiyāyikas  refute the following views?

a) The primary meaning of a word is a particular ;

b) The primary meaning of a word are all particulars ;

c) The secondary meaning of a word is a particular.
3+3+4=10

5Ð ÷˜ëûy!ëû„þ†’ „þ#îû*öìþ™ !˜öìÁ¬y_« ›“þ=!œ !˜îûy„þîû’ „þ!îûëûyöìŠé˜Ú

„þV ëê!„þ!Mþéê îÄ!_« þ™öì”îû Ÿ„þÄyíÅ —

…V ¢„þœ îÄ!_« þ™öì”îû Ÿ„þÄyíÅ —

†V îÄ!_« þ™öì”îû œÇþÄyíÅÐ 3+3+4=10

Or / xíîy

[ Turn over
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